
MEGOLDÁSOK 

6. osztály – 1. forduló 

 

A virágzó középkor Magyarországon 

 

1. 5 1 6 

 2 4 3 

 

2. a, szászok b, székelyek c, magyarok d, románok 

 

3. a, Vlad Dracul b, Budai Nagy Antal  c, Mezid bég  d, Hunyadi János 

 

a, 1436. szeptember 5. b, 1437 

 

4. a, kilenced b, Nagy Lajos  c, 1351 

 

a, Anjou 

 

5. a, Galambóc  b, Szerbia 

 

a, Nándorfehérvár b, Szerbia 

 

a, Visegrád  b, Magyarország 

 

a, Temesvár  b, Románia 

 

6. a, II. Mehmed  b, Orhán c, Szulejmán  d, I. Murad 

 

7. fogalmazás 

 

8. a, Corvinus  b, ellopatta  c, Szendrő  d, kormányzó  e. 15 

 

f, 1464   g, koronavám  h, Vitéz  János 

 

 


